

Javascript Interview Questions
What have you used JavaScript for?
Typical answers include form validations, user action confirmations, updating an Internet page dynamically and other such answers. I usually ask this question first just to get the candidate talking about JavaScript and see if they have in fact used JavaScript for something.

How do you access an element in an HTML document with JavaScript?
Give the element an ID attribute and then use JavaScript’s getElementById() function to access that element.

How do you determine how many characters are in a JavaScript string?
With the length property of the JavaScript string object.

What datatypes are supported by JavaScript?
Number, String, Undefined, null, Boolean. At a minimum, the candidate should identify Number and String.

How do you create a date in JavaScript?
With the Date object: new Date()

Where does JavaScript date object pull it’s date from?
From the client machine.

What does the isNaN function do?
Returns true is the value provided is not a numeric value and false if the number provided is a numeric value.

What is the difference between JavaScript and Java?
They are completely different languages.

How do you comment JavaScript code?
For single-line comments, begin the line with consecutive forward slashes (//). To comment a block of code, wrap it with /* code */.

What is the JavaScript concatenation operator?
The plus sign.

How do you call an external JavaScript file?
With the script tag, using the src attribute to reference the path of the JavaScript file.

How do you create a function in JavaScript?
Use the function statement.

How do you get the item selected in a dropdown select list?
With the selectedIndex property

How do you open a new window?
With window.open

How do you remove all options from a dropdown select list?
By setting the length property of the dropdown select list to 0.

Demonstrate the syntax for writing a FOR loop.
Need an answer similar to:
for (i=1;i<=LoopNumber;i++) { //do something } How do you determine the length of an array?
With the length property of the array object

How do you load a new URL in a browser?
With the location or href property of the window or document object.

What are the different usages of equal signs?
One (=) is for assignment. Two (==) is for equality. Three (===) is for strict comparison.

What is ++ used for
It is the increment operator. It adds one to a value.

What is a transient variable?
A transient variable is a variable that may not be serialized.

Which containers use a border Layout as their default layout?
The window, Frame and Dialog classes use a border layout as their default layout.

Why do threads block on I/O?
Threads block on I/O (that is enters the waiting state) so that other threads may execute while the I/O Operation is performed.

How are Observer and Observable used?
Objects that subclass the Observable class maintain a list of observers. When an Observable object is updated it invokes the update() method of each of its observers to notify the observers that it has changed state. The Observer interface is implemented by objects that observe Observable objects.

What is synchronization and why is it important?
With respect to multithreading, synchronization is the capability to control the access of multiple threads to shared resources. Without synchronization, it is possible for one thread to modify a shared object while another thread is in the process of using or updating that object's value. This often leads to significant errors.

Can a lock be acquired on a class?
Yes, a lock can be acquired on a class. This lock is acquired on the class's Class object.

What's new with the stop(), suspend() and resume() methods in JDK 1.2?
The stop(), suspend() and resume() methods have been deprecated in JDK 1.2.

Is null a keyword?
The null value is not a keyword.


What is the preferred size of a component?
The preferred size of a component is the minimum component size that will allow the component to display normally.

What method is used to specify a container's layout?
The setLayout() method is used to specify a container's layout.

Which containers use a FlowLayout as their default layout?
The Panel and Applet classes use the FlowLayout as their default layout.

What state does a thread enter when it terminates its processing?
When a thread terminates its processing, it enters the dead state.

What is the Collections API?
The Collections API is a set of classes and interfaces that support operations on collections of objects.

Which characters may be used as the second character of an identifier, but not as the first character of an identifier?
The digits 0 through 9 may not be used as the first character of an identifier but they may be used after the first character of an identifier.

What is the List interface?
The List interface provides support for ordered collections of objects.

How does Java handle integer overflows and underflows?
It uses those low order bytes of the result that can fit into the size of the type allowed by the operation.

What is the Vector class?
The Vector class provides the capability to implement a growable array of objects

What modifiers may be used with an inner class that is a member of an outer class?
A (non-local) inner class may be declared as public, protected, private, static, final, or abstract.

What is an Iterator interface?
The Iterator interface is used to step through the elements of a Collection.

What is the difference between the >> and >>> operators?
The >> operator carries the sign bit when shifting right. The >>> zero-fills bits that have been shifted out.

Which method of the Component class is used to set the position and size of a component?
setBounds()

How many bits are used to represent Unicode, ASCII, UTF-16, and UTF-8 characters?
Unicode requires 16 bits and ASCII require 7 bits. Although the ASCII character set uses only 7 bits, it is usually represented as 8 bits. UTF-8 represents characters using 8, 16, and 18 bit patterns. UTF-16 uses 16-bit and larger bit patterns.

What is the difference between yielding and sleeping?
When a task invokes its yield() method, it returns to the ready state. When a task invokes its sleep() method, it returns to the waiting state.

Which java.util classes and interfaces support event handling?
The EventObject class and the EventListener interface support event processing.

Is sizeof a keyword?
The sizeof operator is not a keyword.

What are wrapper classes?
Wrapper classes are classes that allow primitive types to be accessed as objects.

